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Numerical Tests on the Exotic Option Pricing Models [0 11 [
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NB. Normal Distribution [

NB. DO0O0O0OD0DDO0OD0O0O0OO0OOOOOOOOODODOO0O0O0O0OoOoooo

NB. Ostnormal 00O OOOONPOODODODODODODOONQODODODODO Ndist
stnormal=: (%:@0.02:) (}%,~) "@-0-:@*:

NP=:3 : O
(stnormal y)*y%h(=“%‘+%)/,(>:+:k),.(k:y)*>:k=.1.28
)
NQ=:3 : O
(stnormal y)*%‘+/1,,y ,.>:1.28
)

Ndist=:3 : O
if. 3.3<z=:|y do. g=:NQ z else. g=:0.5-NP z end.
if. 0<:y do. g=:1-q end.
)
NB. Yamanouti’s Formula OO OOODO (DOOODOODOODOOOOOOOOO)
Ninv_y=:3 : O
=T Axyx (1-y)
.h:zx(2.0611786-5.72622047(z+11.640595) )
if. y>0.5 do. x=.-x end.

N
I

X

)
NB. Normal Random Numbers U [J 000
NB. Rndm_Norm Size Mu Sigma [l U U URndm_Norm O OO pUo

Rndm_Norm=:3 : O
’Num Mean Sigma’=.y
Mean+Sigma*Ninv_y"0 (?Num#10000000)%10000000
NB.{.Ninv_bm"1 z=: (?(Num,2)$10000000)%10000000
)

e DD OOOOLODLDOUOOOODLDOOOOO
NB.
NB. Barrier Option Pricing Model
NB. J.Takeuchi Apr. 2009

NB. Usage: Opt Barrier Data

NB. Opt and Data is vectors ( 2 and 6 factors)

NB. Opt=(1...Call 2...Put) , (1...NockOut 2...NockIn)

NB. Data=SpotPrice StrPrice BarrierPrice Term(Month) Sigma FreeRate
NB. ex. Call Qut=. 1 1 Data=. 120 90 100 6 30 5

NB.

Barrier=:4 : O

’Spot Kosi Barrier Term Sigma Rate’=. y
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’Call Qut’=. x

if. Call=2 do. sign=:_1 else. sign=:1 end.

if. Barrier>Spot do. score=:0 else. score=:2 end.

if. Barrier<Kosi do. score=:score else. score=:score+l end.

if. Call=2 do. score=:3-score end.

Ter=:Term%12[Sig=:Sigma’%100 [Rat=:Rate’, 100

m=. (Barrier’Spot) " ((2*xRat%Sig~2)-1)

er=. -Ratx*Ter

dl=.ddd Spot,Kosi

d2=.ddd Spot,Barrier

d3=.ddd (Barrier~2),Kosi*Spot

d4=.ddd Barrier,Spot

D1=.sign*(Spot*Ndist (sign*d1+Sig+’:Ter))-Kosi*er*Ndist (sign*d1)
D2=.sign*(Spot*Ndist (sign*d2+Sig*J,:Ter))-Kosi*er*Ndist (sign*d2)

D3=.sign*(((Barrier~2)%Spot)*Ndist (sign*d3+Sig*J),:Ter))-Kosi*er*Ndist (sign*d3)
D4=.sign*(((Barrier~2)%Spot)*Ndist (sign*d4+Sig+*’:Ter))-Kosi*er*Ndist (sign*d4)

select. score

case. 0 do. D=:0

case. 1 do. D=:(D1-D2)-m*(D3-D4)
case. 2 do. D=:D1-mx*D3

case. 3 do. D=:D2-mxD4

end.

if. Out=1 do. Hyoka=:D

else. Hyoka=:bs (1 1 0 1 1 1#y)-D
end.

)

NB.

NB.ddd Numerator (Bunsi) ,Denominator (Bunbo)
NB.Usage : ddd Spot,Barrier

NB.

ddd=:3 : O
’Nume Deno’=.y
((~.Nume%Deno)+(Rat--:*:Sig) *Ter)Sig*’,: Ter
)

NB.

NB.Simulation for Barrier Option
NB.Opt. Barrier_Sym Spot Kousi Barrier Term Volat Rate

NB.Opt.==>Numbers, (Call..1 Put..2),(Knock Out..1,Knock In..2),Int.

NB.Int==>Intervals:12. .Month 54..Week 120..3days 365..1day

NB.
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Barrier_sym=:4 : O
’SO KB T Vol r’=.y
i=.0[S=.MM#Smax=.Smin=.SO[’MM Call Out Int’=.x
label_L1.
if. T<i=.>:1 do. goto_owari. end.
z=.Rndm_Norm MM,0,1
S=.S5+(S*(r%100) * (1%Int) ) +S*x(Vol%100) * (%:1%Int) *xz
Smin=.S<.Smin

Smax=.S5>.Smax

NB. print S

goto_L1.

label_owari.

if. Call=1 do. w=.5-K else. w=.K-S end.

if. SO<B do. p=:Smax<B else. p=:Smin>B end.
if. Out=2 do. p=:-.p end.

WW=:W*p

NB. w=.(S-K)

C=. ("=(xr%100) * (T%Int) ) *MMY~+/ (O<ww) #ww

)
NB.
NB. Plain Vannila Option Model(Black & Scholes)
NB.
bs =: 3 :0

’abcde’=.y

t=. ¢ % 12

u=. (. a % b) + tx (el=.e % 100) - -:(vol=.d % 100) "2
p2=. u % (vol * %: t)

pl=. p2 + vol * %: t

nl=. Ndist pl

n2=. Ndist p2

bs=. (a * nl ) - b *n2 *( ~ (-el) * t)

e 1000 DODOOOODDDOO 12000
gbooboooobobooooboo
gbobboopdobobogoeouubbbugogednn
oboooboooosyboobooobogsoekung

1 1 Barrier 120 100 90 6 30 5
24.1793
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guoodoooobobbbobooooog
1000 1 1 60 Barrier_sym 120 100 90 30 30 b5
23.8097

e 21U OULUULULODDDO 12000
guooooooooobbbbod
gboboboobogoobbboodnbnbbouggednn
Oobooboooosyooboobooosoxdnn

1 1 Barrier 120 90 100 6 30 5
27.9592
guoodoobooobbbbobooooa

1000 1 1 60 Barrier_sym 120 90 100 30 30 5
29.6036

10000 1 1 60 Barrier_sym 120 90 100 30 30 5
29.278

10000 1 1 120 Barrier_sym 120 90 100 60 30 5
29.2318
igobobooogoooboooobobooo

1000 1 1 360 Barrier_sym 120 90 100 180 30 5
27.8821

1000 1 1 360 Barrier_sym 120 90 100 180 30 5
29.5617

1000 1 1 360 Barrier_sym 120 90 100 180 30 5
28.1276

1000 1 1 360 Barrier_sym 120 90 100 180 30 5
28.2219

e [ 1200000OO0OODODOOO 100000
gbbobuooooboboooobo
gobobeooddbbbogg12c00b0ggbnobos3aggd
Ooooboooosyooboobooosoxunn
1 1 Barrier 1000 1000 1200 3 30 5
19.3695
goboboogoobboooooon
1000 1 1 60 Barrier_sym 1000 1000 1200 15 30 5
26.417
gbobboooobbbuooo3ggbboboooobbban
10000 1 1 120 Barrier_sym 1000 1000 1200 30 30 5
23.4803
gbobi1ogbobooooooboooon
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10000 1 1 360 Barrier_sym 1000 1000 1200 90 30 5
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